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1.Which of the following equality is false?
100 _ n . 3
(A) lim xx - L 100 B m;}’;sm(%n) = % (©) m—@fk—f =0 (D)lim(1+30)" =e.

2.The tangent line to the curve x” + y* =3 at the point (2,1) is
(A)(x-2)-2(1+In2)(y -1 =0 B)(x-2)+2(1+In2)(y-1)=0
(O)2(1+In2)(x=2)=(y-D=0 (D)20+1In2)(x-2)+(y-1)=0

3.Suppose that f(x) = (x> =1)"*/x. Then {x| xisacritical valueof f} =

(A){~LLO} (B){=/3,v3} (C){=3.,3,-11} (D){~/3,4/3,-1,1,0}.

4 Suppose that g is the inverse function of a differentiable function /" and G =—.

If /(3)=0 and f'(3) =2 then G'(0) = (A)_flg (B)l—lé (C)—% (D)%.
5.Which of the following equality is false?

nl4 1 oy _ T 0 9
(A) Lwcscxdx =0 (B) L?) dx=—— ..E (D) L log,, xdx =10 - —— .
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6.Which of the following series is divergent?

(A)Zf (B)Zntan( ) (C)i 3n2n (D )in 32;4

-1 1

7.Suppose that Z a, and an are divergent series. Which of the following statement is true?

n=1 n=1

a,|’ diverges. (C)i\/}l;
=1 ) n=1

4 w_ (AL Byt
[ (=3 =AM B)7 (©)2 D)4.

(A)lim|a,

8.The radius of convergence of Z
n=0

Z((zl)w % = (W)e' B)tanx (C)cosx (D)sinx,
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10.If D={(x,)|x* +y* <4,y 20} then ”mdAz W5 B ©F O
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1. (12 %) Evaluate a)g-z-(f,ﬁ tanidf)  b) L e™* cos x dx
x X

Xy
, (x,»)#(0,0
2 (2 %) Let f(yy={aryp PTOO

0 (x,)=(0,0)
a)Prove that lim  f(x,y) does not exist.
(x.0)=(0,0)

b)Find f,(0,0)and f,(0,0).

- 3, (12 %) Suppose that f satisfies the inequalities ¢ < fx)<e +x*, | x|<1.
Find f(0) and f'(0).
4. (12 %) Suppose that g(u,v) =uln(u +2v) and f(x,y) =g(e" + sin%,e’c + cos—;i).

Find a) V£ (0,0).
b)The tangent plane of z = f(x,y) at the point (0,0,In5).
¢)The directional derivative of f(x,y) at the point (0,0) in the direction <2,-1>.

5. (12 %) Evaluate a) r J“ ébs(f dydx

b) J‘J;)ln(x P4 )dA where D ={(x,y):1<x*+ )’ <e}.
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